

## TENDER INVITING NOTICE.

Sealed tender on B-I form are hereby invited for repair / renovation of work of DIGP Mirpurkhas Range in Sindh Police.

Sr.#	Name of work	Estimated Cost	Earnest Money	Tender Cost	Completi on Time	Opening Date	Opening Place
01.	Repair /Renovation DIGP Banglow /Barracks & Office	7.5 million	2.5 %	1500	90 days	30.11.2011 1300 hrs	Office of DIGP Mirpurkhas Range

## CONDITIONS:

- The interested parties / contractors / companies can be head tender documents for the above quoted work from DIGP Mirpurkhas Range by submitting an application on company's letterhead along with tender fees with effect from 17.11.2011 to 29.11.2011.
- The interested parties/ contractors/ companies can visit the site to assess to work.
- The last date to deposit tender will be 30.11.2011 till 1230 hrs.
- The tender shall be opened on 30.11.2011 at 1400 hrs in presence of committee and representative of participants in office of DIGP Mirpurkhas Range.
- 5. The tender Inviting Notice can also be seen on Sindh Police website.

6. The DIGP Mirpurkhas Range reserves the rights to ACCEPT or REJECT any or all offers according to PAPRA rules 2010.

(GHULAM HYDER JAMALI)PSP,

Deputy Inspector General of Police Mirpurkhas Range

## Name of work - Repair /Renovation of DIGP Mirpurkhas Range. (DIGP Banglow and Barracks /Office)

## Rough Cost Estimates

Sr. #	Description	Qty	Rate	Unit	Amount
1	P/L 1.3.6 cement concrete solid block masonry se 1.6 cement sand mortar in plinth and wall including raking out joints and curing etc complete	3100	105	p.cft	325500
2	Cement plaster 1:4 up to 1/2" thick	31000	25	p.sft	775000
3	P/L bath room glazed tail tiles 16"*16*1/4" on floor and wall facing in required color and pattern of joint in white cement and pigment in desried shape with finishing cleaning and cost of wood polish etc complete including cutting tiles to proper profiles	1150	190	p.sft	218500
4	P/L flooring tiles 16"*16*1/4" on floor and wall facing in required color and pattern of joint in white cement and pigment in desried shape with finishing cleaning and cost of wood polish etc complete including cutting tiles to proper profiles	2800	190	p.sft	532000
5	Providing and laying 3" thick topping cement concrete (1:2"4) including surface finishing and dividing into panels 1st floor chamical treatment	12000	85	p.sft	1020000
6	Providing and fixing T angle iron, garder ,CC flooring and fabrication 2"*2" center to center and floor tiles, CC topping 2" thick	2500	350	p.sft	875000
7	Providing and laying marble floor of 1" thick more than 1 sqft. Fine dressed on surface, without winding in ground floor over 1" (25 mm) lime mortar 1:2 (one lime two sand) setting in marble tiles with grey cemnet slurry over lime mortar, joining and washing the tiles with white cement slurry including curing, rubbing and polishing etc	1250	210	p.sft	26 2500

8	Providing and fixing door shatter thick commercial, play wood (3 ply) on both sides/ including hold fasts, jhings iron tower blots, handles and cleats with cord and one mortise lock show dats, making and fixing frames for door	620	300	p.sft	186000
9	Scraping the old distemper preparing the surface and supplying two cost of distemper of specified make and color as directed by engineer in charge	45000	13	p.sft	585000
10	Preparing surface after scraping to door and windows and types including three cost and director by engineer in charge	6500	18	p.sft	117000
11	supplying of earth feling and dewatering & compasing	54380	, 15	p.cst 、	815700
12	Prepaing the surface and painting with matt finish i/c rubbing the surface with bathy (silicon carbide rubbing brick) filling the voids with zink/chalk/plaster of pairs mixture applying first caat promix making the surface smooth and ten painting 3 costs with matt finish of approved made etc, complete (new surface)	6500	20	p.sft	130000
13	supplying and fixing RRC pipe 12" including excavation and re-filling	400	450	p.sft	180000
14	Providing manul 18*18 (inside dimensions 224 deep with 6" CC thick 1":3":6" block set on 1:6" cement motor 6" thick CC 1:4:8 in plaster 1:3 C.M to all inside wall surface and to top 1" thick C.C 1:2:4 flooring complete with hinged iron cover. Fixing in back filling and sidposal of earth etc complete including main hole	40	5500	each	220000
15	Providing chamber 15"*15" inside dimension *24" deep for house mater with 6" thick CC 1:4:8 in foundation 1/2 thick cement plaster 1:3 CM to all indise wass surface and to top	10	1300	each	13000

16	Making and fixing steel gated door with 16" thick sheeting including angle iron frame 2"*2", 3/8" and 2/4" suate bars 4" center to center with locking arrangement	48	750	p.sft	36000
17	Providing and fixing anti-parking sheed including 3" di pipe frame and fiber glass sheet	900	450	p.sft	405000
18	Providing and fixing plaster of pairs false ceiling	3100	130	p.sft	403000
19	Providing and fixing UPVC 4" dia including cutting making jointing with switch pest with special quality including all cost of labor as directed by the engineer in shares etc. complete.	400	160	p.rst	64000
20	charge etc complete Providing and fixing UPVC 3"dia including cutting making jointing with switch pest with special quality including all cost of lavor as directed by the engineer in charge etc complete	200	150	p.rst	30000
21	Providing and fixing UPVC 3/4"dia including cutting making jointing with switch pest with special quality including all cost of lavor as directed by the engineer in charge etc complete	300	65	p.rst	19500
22	Providing and fixing UPVC 1"dia including cutting making jointing with switch pest with special quality including all cost of lavor as directed by the engineer in charge etc complete	200	160	p.rst	32000
23	Providing and fixing UPVC 1.1/2" dia including cutting making jointing with switch pest with special quality including all cost of lavor as directed by the engineer in charge etc complete	250	170	p.rst	42500
24	Providing and fixing UPVC 6" dia including cutting making jointing with switch pest with special quality including all cost of lavor as directed by the engineer in charge etc complete	250	350	p.rst	87500

	Grand TOTAL	*			7500000
32	Providing and fixing commode approved quality	3	5000	each	15000
31	Providing and fixing WC approved quality	15	2500	each	37500
30	Providing and fixing wash basin with padistal approved quality	15	2100	each	31500
29	Providing and fixing stop cock approved quality	40	320	each	12800
28	Providing and fixing big cock approved quality	35	350	each	12250
27	Providing and fixing gate valve 1.1/2" dia approved puality etc complet	10	550	each	5500
26	Providing and fixing gate valve 1" dia approved puality etc complet	10	750	eacn	/ 500
25	Providing and fixing gate valve 3/4" dia approved puality etc complet	5	650	each	3250

g <u>pic complisi</u> 1 jg grad ming galar er i f Afrons

(Sub Engineer) Central Police Office Karachi